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Full Marks : 45

Time : 2 hours

The figures in the margin indicate full marks
for the questions

Answer either in English or in Assamese

1. Answer the following as directed : 1x5=5
oo ACIRR FCrEE e fo

(a) Distinguish between wunivariate and
bivariate data.
GFF-561F ©2] SF @-5e% U Ae| 1AF
feran

(b) If A is a certain event associated with a
random experiment, then P(A) is equal

to

( Fill in the blank )

i A, qves ~Rrw GOR Fe «b1 fFifvs 16
=y, (SR PA)IIHTI |

Bk Ekal
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(2) (3)

(¢) Ifr==1, then the two lines of regression 2. Answer the following questions : 2x5=10
are
SeTo il epeTRs Geq o

i r = £1, (SCR'T SRR @1 T 29
(a) Define null hypothesis.

(i) coincident
e arewq sige fran |

el
) el (b) Mention two properties of Karl Pearson’s
correlation coefficient.
AR
ok MEN I PoRe T gaEed 7ol 4 Toad
(iti) perpendicular to each other \’Q“f‘ 0\"’/@&\ 4 |
Ao TR &/ ¥ N
& 7 _~"\Z(g If Aand B are two events, not mutually
(iv) None of the above T r ”I}‘: exclusive, connected to a random
G/ GBS Y \ 03\«5”/ /,’Q;" experiment and
ool et Q}?
( Choose the correct option ) {*;ffq_ﬁ‘_@j::/ P(A) = %, P(B) = % and P(Au B) =%
(o= Rwch f Sferear )
then find the value of P(An B).
(d) Lockout in a factory for a month is Al AFH quﬁ o IS
associated with which component of a T, 1 o= R S
ti ies?
e senes Pa)=L PB) =29 PaUB) =1
B IR @R AR T e 4 > 2
AT (O SIS T8 Tfbs 9 (S8 P(AN B) 3 T fefg 31 |
. (d) What do you mean by skewness?
(e) What.are the different kinds of error weifes e & 3@ 2
associated with tests of significance?
AL “RwR e e - =B (e) Find the harmonic mean of 2, 3 and 5.
& o | 2, 3 9 57 ZIS T4 fefy 41 |
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(4) ( 5)

3. Answer any four of the following questions : (e) What is sample survey? Distinguish
5x4=20 between sample survey and census
2 =
o7 wﬁmﬁm{@ﬁmmwﬁm: survey. +3=5
(@) The AM aiforeef {81 5 7 e Rt S Sy sieeTl
i and GM of two numbers are 9 o MR o |
i i respectively. Find their HM and
S0 the numbers. () What is Poisson probability distribu-
T?T TR ST 147 9 wye KTTeq T4 7-2. tion? Write down the basic features of
%;? B 2T T4 Fiey 1 W ey o1 this distribution. 2+3=5
| T o5 Eifder 3% 2 ¢ 3% To1 [HREPTR
& follrll;iWi;he dngiSSing frequency for the ferar 1
g data wh i : : ;
O] B o[ e wose median is 24 : (g) Calculate Karl Pearson’s correlation
24 i%f fa bl SCISSRECEH 91, € F47= AT coefficient from the data given below :
— ) o ©uE |l T PR TR 8RS
Class Interval Frequency L #7 \Z fyefy 41 -
_‘_‘——._,__‘_ Zﬁ i Wew ,. ?ﬁ.’
010 5 |s| _~ x : 1 2 3 4 5 6 7
égzgo e VBN y : 3 5 6 8 10 11 13
0 AN )
3040 1?8 % - (h) Given (fal 1CR)
© 4050 | 7 p = p 5
¢ What is ti : :
of atlnllse time series? Give two examples Arithmetic Mean 36 85
different comuen oo What are the T T
components of time series? Standard Deviation 11 8
1+2+2=5 e
TR B2 e o =i
RG ﬁﬁv—a’%eﬂwﬁg g ngﬁ e o | Coefficient of correlation between x and
(d) State e methe o y= 066
r i matical definition of =0
P obabxhty- Also mention its drawbacks. X 9% y I &I F7227Eq BT = 0-66
3+2=5 Find the regression line of y on x.
WW” AT Sicwr forar | wpoe 2@ X9 GRS y I TR S el 7940 1
PR Sy v |
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(6) (7)

4. Answer any one of the following questions : 10 (ii) Write a short note on any one of the
wote frg) ped R I @b T oy following : 3
. ©oR R @I GBI 6o B (Tl foei
fa) () Define correlation between two 4 .
variables. Explain different types of (1) Seasonal variation
e correlation with examples. 2+4=6 ’f@ﬁé SISl
("‘\fgn(\ Tl e WS TR SikE] fo | (2) Uses of time series analysis
N \c\ SApTR RS aRR S e 49 | FErc Remes gaar
e }ﬁ:}} Given (i wcy)
, _«.-jsz’_..--" I /\ b oo 15, X =25, =18, Y(x-X) =136, (c) (i) What is the probability that a
N 3'5":‘;(.3:::/ Yly-7) =138, S - %) (y - 7)=122 non-leap year selected at random
L Nages B has 53 Saturdays? 4
5 awxyémwl 4 Trfeeger e T 4B e, &
xy ' WR @, 535 WFEE 49w Wi
(b) () From the data given below, e 2
calculate the trend using 3-yearly
moving average method : 7 (i) State three properties of normal
3-IM R T ST Eme weq distribution. 3
ORI *R—T LT0R I Fiefy 47 - SPTII 96719 TSD! 4 o1 |

Year | Sale (i : :

i a%?%:;;g 7) };gr Safl??ez%n thousand ¥) (iii) Two dice are thrown ‘ .s1mu1-
2001 (35 Br) taneously. Find the probability that
2002 > 2009 13 the sum of the faces is not less
2003 ; 2010 17 than 9. 3

2011 19 y ,
2005 > 2012 14 o1 ol aoEer Few w11 29 | i
= e 2013 13 5] Tpelte dfowm @@ IR o
X oLy 12 ; &/ 9uE I @cIER I Ay T4 |
2007 8 2015 15 % v
2008 12 .
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(8)

(d) (i) From the data given below,

calculate mean and variance : 3+4=7
g O 791 NEE T4 HE EE {1
fefg < -
Profit (¥ in lakh) No. of Companies
S (114 HFTS) Sk e RS ]

20-30 30

30-40 58

40-50 62

50-60 85

60-70 112

70-80 112

80-90 57

90-100 26

Write a short note on any one of the
following : 3
wo 7 @I GO @oRS 59 B fordt
(1) Simple random sampling
method
STqe qfoed w1 2= e
(2) Test of significance

MYFS! A

(3) Scatter diagram
o1 o

ok A
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